
The Scope of Financial Problems
Many well established companies run into financial difficulties because of their heavy burden from pension obligation. In general, demography problems are not considered a financial problem. However, the lack of understanding of demographic trend may cause great misevaluation of a firm. We will work out the following problem on the impact of demography to stock valuation. 

Exercise:

Suppose one thousand employees will retire from a firm every year. Each retired employee will get a defined benefit retirement package, which includes a pension of 20,000 dollars per year and full medical benefit. When the policy was designed, on average people live three more years after retirement. However, people’s life span increases dramatically in recent years and on average, people live 15 more years after retirement today.  Assume annual medical spending on retired people is 5,000*1.1^(T-65), where T is the age of the retired people. What is the total annual pension obligation for the company in a stationary environment if the assumed life span at retirement is three year?  What is the total annual pension obligation for the company in a stationary environment if the assumed life span at retirement is fifteen year? If the company’s earning before pension plan is 500,000,000 per year, what are the net earning after pension obligation when pension plan was initially implemented and today? If the share price was 100 dollars at the early days of pension implementation, what would be the stock price of the company today? 
Long term or short term problem

When Japanese stock market experienced early slide in the early 90’s, it was thought as a short term problem. It was and is often believed that once economic restructure finishes, the Japanese economy and its stock market will resume its upward movement. Indeed, under efficient market theory, no stock market will experience prolonged slide. From our physical theory, however, things are very different. A high living standard without the support of high physical resources will inevitably leads to low fertility, which will cause long term economic hardship, which will in turn cause long term underperformance of the stock market.  
Long term stock performance:
USA, Canada, Australia, Germany, Sweden, Japan. Which countries had high stock return in the last century? How do stock performance tied to natural resources? 
